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Enrollment No: _______________________         Exam Seat No:_______________________ 

C.U.SHAH UNIVERSITY 
Winter Examination-2018 

 

Subject Name :  Basic Electronics Engineering 

 

Subject Code :  2TE02BEE1       Branch: Diploma (All ) 

    

Semester :2          Date : 31/10/2018             Time :  02:30 To 05:30               Marks : 70 

 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: 

 

(14)  

 a)  Unit of capacitor is………….….. 

A. Faraday  

B. Ohm 

C. Ampere  

D. Volt 

1 

 b)  Bridge wave rectifier contain ……………………diode 

A. 1 

B. 2 

C. 3 

D. 4 

1 

 c)  The unit of resistor is…………………… 

A. Ω  

B. Ω – metre 

C. Ω / metre 

D. Ω / m² 

1 

 d)  Total emitter current is: 

A. IE – IC  

B. IC + IE 

C. IB + IC 

D. IB – IC 

1 

 e)  Frequency in D.C. voltage is ……. Hz. 

A. 5 

B. 10 

C. 25 

D. 50 

1 

 f)  In a half wave rectifier, the load current flows for what part of the cycle.  

A. 0 

B. 60 

C. 90 

1 



Page 2 of 5 

 

D. 180 

 g)  A transistor has how many doped regions 

A. 1 

B. 2 

C. 3 

D. 4 

1 

 h)  Rectifier is used in circuit to…………… 

A. Convert A.C. into D.C. 

B. Convert D.C. into A.C. 

C. Convert fixed D.C. to variable D.C. 

D. None of above 

1 

 i)  Give full form of PIV for diode. 

A. Positive Inverse Voltage 

B. Pick Inverse Voltage 

C. Positive Inverse Variable 

D. Pick Inverse Variable 

1 

 j)  Which of the following capacitors is polarized? 

A. plastic-film  

B. mica  

C. electrolytic  

D. ceramic 

1 

 k)  What is the value of  resistor  having color code  Red-Red-Orange-Gold? 

A. 22k  

B. 220   

C. 2.2k  

D. 220k 

1 

 l)  The current ratio of  IC/IE is usually less than one and is called: 

A. theta  

B. alpha 

C. omega 

D. none of all 

1 

 m)  What is the tolerance of resistor having color code Brown -Black - Blue –Gold? 

A. +/-5%   

B. +/-10%    

C. +/-20%   

D. +/-1% 

1 

 n)  Relay is …………… operated device. 

A. Current 

B. Voltage 

C. Power  

D. Frequency 

1 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 A Give Classification of resistor. Explain any one classification in detail. 7 

 B Give types of capacitors. Explain any three in detail. 7 

    

Q-3  Attempt all questions (14) 

 A Enlist the different types of switches with its symbols. 7 

 B Explain electromagnetic Relay  7 
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Q-4  Attempt all questions (14) 

 A What is Connector? Give types of connector and give specification of it. 7 

 B Explain the working of toggle switch and its types. 7 

    

Q-5  Attempt all questions (14) 

 A Explain working of NPN  transistor with appropriate Diagram. 7 

 B Explain Conductor, Semiconductor and Insulator with the help of energy band 

diagram. 

7 

    

Q-6  Attempt all questions (14) 

 A Explain Varactor Diode With Appropriate Diagram 7 

 B Explain PN Junction diode as a forward bias and draw characteristics of it. 7 

    

Q-7  Attempt all questions (14) 

 A Derive the relation between current gain parameter α & β. 7 

 B Explain voltage doubler circuit. 7 

    

Q-8  Attempt all questions (14) 

 A Explain V_I characteristics of Zener diode with necessary diagram. 7 

 B Describe π type filter and L(choke) input LC filter. 7 
 
 

 

 

 
Q-1  Attempt the following questions: 

 

(14)  

 a)  કે઩ેસીટય નો એકભ ......................છે 

A. પેયેડે 

B. ઓહભ  

C. એમ્઩ીમય  
D. લોલ્ટ  

1 

 b)  બ્રીજ લેલ યેક્ટીપમય ઩ાસે ...................ડામોડ હોમ છે. 
A. 1 

B. 2 

C. 3 

D. 4 

1 

 c)  અલયોધ નો એકભ ……………… છે. 
A. Ω  

B. Ω – metre 

C. Ω / metre 

D. Ω / m² 

1 

 d)  કુર એભીટય કયંટ એટ્રે 
A. IE – IC  

1 
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B.  IC + IE 

C. IB + IC 
D. IB – IC 

 e)  લોલ્ટેજ્ની આવતૃિ  ……. હટટઝ છે. 
A. 5 
B. 10 
C. 25 
D. 50 

1 

 f)  અડધા િયંગ યેક્ક્ટપામય ભા રોડ પ્રલાહ સાઇકર ના કેટ્રા ભા બાગ ભાટે લહ ેછે.  
A. 0 

B. 60 

C. 90 

D. 180 

1 

 g)  એક ટ્રાન્ઝઝસ્ટય કેટરા તભશ્રીિ તલસ્િાયો હોમ છે 

A. 1 

B. 2 

C. 3 

D. 4  

1 

 h)  સકીટ ભા યેક્ટીપામય ............ ભાટે લ઩યામ છે.  
A. A.C. ને D.C. ભા પેયલલા  
B. D.C.ને A.C. ભા પેયલલા 
C. પીક્સ D.C. ને લેયીએફર  D.C. ભા પેયલલા 
D. એક ઩ણ નહી 

1 

 i)  ડામોડ ભાટે PIV ન ુપરૂૂ નાભ આ઩ો. 
A. ઩ોઝીટીલ ઇઝલસટ લોલ્ટેજ 
B. ઩ીક ઇઝલસટ લોલ્ટેજ 
C. ઩ોઝીટીલ ઇઝલસટ લેયીએફર 
D. ઩ીક ઇઝલસટ લેયીએફર 

1 

 j)  નીચેના ભા થી કમા કે઩ેતસટસટ ન ુધ્રલુીકયણ થામ છે ? 
A. પ્લાસ્ટિક ફિલ્મ  

B. અબરખ 

C. ઇરેક્ટ્રોરાઇટ  

D. સિરાસમક 

1 

 k)  જે  અલયોધ  નો કરય કોડ રાર રાર નાયંગી – ગોલ્ડન હોમ િેન ુમલૂ્મ શુ ંછે? 
A. 22k  
B. 220   
C. 2.2k  

D. 220k 

1 

 l)  IC/IE  કે જેનો કયંટ યેસીમો કામભી એક કયિા કયિઓછો હોમ અને શ ુકેહલામ  

A. થીટા 
B. આલ્પા 
C. ઓભેગા 

1 
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D. કંઈ નહી  
 m)  બ્રાઉન બ્રેક બ્લ ુ ગોલ્ડન કરય કોડ લા઱ા અલયોધ ભાટે ટોરઝસટ શુ ંછે? 

A. +/-5%   

B.  +/-10%    

C. +/-20%   
D.  +/-1%  

1 

 n)  યીરે ............... સચંાલરિ ડડલાઇસ છે. 
A. કયંટ 
B. લોલ્ટેજ 
C. ઩ાલય 

D. ફ્રીકલળંી  

1 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 A અલયોધન ુલગીકયણ કયો. કોઇ ઩ણ એક લગીકયણ તલસ્િાયભા સભજાલો . 7 

 B કે઩ેસીટય ના પ્રકાય રખો. કોઇ ઩ણ ત્રણ તલસ્િાયભા સભજાલો . 7 

    

Q-3  Attempt all questions (14) 

 A જુદા જુદા પ્રકાય ની સ્સ્લચ અને િેના સીમ્ફોર ન ુલરસ્ટ ફનાલો.  7 

 B ઇરકે્ટ્રોભગે્નડેટક ડયર ેસભજાલો 7 

    

Q-4  Attempt all questions (14) 

 A કનેકટય એટરે શુ? કનેકટય ના પ્રકાય રખી િેના ભાટેના સ્઩ેળીપીકેન રખો.  7 

 B ટૉગર સ્લીચ ન ુકામટ અને િેના પ્રકાયના સભજાલો. 7 

    

Q-5  Attempt all questions (14) 

 A NPN  ટ્રાન્ઝઝસ્ટય ન ુકામટ મોગ્મ આક્રુતિ સાથે સભજાલો  7 

 B અલાહક, અર્ધટ – લાહક અને લાહક નો એનજી ફેંડ ડામાગ્રાભ દોયો અને સભજાલો.  7 

    

Q-6  Attempt all questions (14) 

 A મોગ્મ આકૃતિ સાથે લૅયેક્ટય ડામોડ સભજાલો 7 

 B PN જકંળન ડામોડ ભાટે પોયલડટ ફામસ સભજાલી િેની કેયેક્ટયીસીક્સ દોયો.  7 

    

Q-7  Attempt all questions (14) 

 A કયંટ ગેઇન ઩ેયભીટય αdc & βdc  લચ્ચેનો સફંધ િાયલો. 7 

 B લોલ્ટેજ ડ્ફરય સડકિટ તલળે સભજાલો. 7 

    

Q-8  Attempt all questions (14) 

 A જરૂયી યેખાકૃતિ સાથે ઝેનય ડામોડ ની લી-આઇ રક્ષણીક્િા સભજાલો. 7 

 B π પ્રકાય ડપલ્ટય અને એર ( ચોક ) ઇનપટુ એરસી ડપલ્ટય સભજાલો 7 

 
 


